uestion 3(10-Points

A standard fluorescent tube has a life length that is normally distributed with mean of 7,000 hours and
standard deviation of 1,000 hours. A competitor has developed a compact fluorescent lighting system
that will fit into incandescent sockets. It claims that the new compact tube has a normally distributed
life length with mean 7,500 hours and a standard deviation 1,200 hours.

a.  Which fluorescent tube is more likely to have a life length grater than 9,000 hours?
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b. Which tube is more likely to have a life length less than 5.000 hours?
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